	HOSPITALS			NURSING HOMES	
1					
Hospitals 2	Hospital Beds 218	Avg. Occupancy 22.6%	Nursing Homes 8	Nursing Home Beds 775	Avg. Occupancy 85.6%
In-Patient Days 18,001	Total Admissions 4,492	Avg. Stay 4.01	Total Days 242,118		
2					
Hospitals 2	Hospital Beds 311	Avg. Occupancy 46.4%	Nursing Homes 5	Nursing Home Beds 524	Avg. Occupancy 83.6%
In-Patient Days 52,690	Total Admissions 12,047	Avg. Stay 4.37	Total Days 159,828		
3					
Hospitals 1	Hospital Beds 28	Avg. Occupancy 41.0%	Nursing Homes 1	Nursing Home Beds 100	Avg. Occupancy 98.7%
In-Patient Days 4,194	Total Admissions 992	Avg. Stay 4.23	Total Days 36,035		
4					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 38.4%	Nursing Homes	Nursing Home Beds 101	Avg. Occupancy 70.9%
In-Patient Days 7,008	Total Admissions 2,410	Avg. Stay 2.91	Total Days 26,136		
5					
Hospitals 1	Hospital Beds 45	Avg. Occupancy 45.6%	Nursing Homes	Nursing Home Beds 150	Avg. Occupancy 97.5%
In-Patient Days 7,494	Total Admissions 2,246	Avg. Stay 3.34	Total Days 53,391		
6					
Hospitals 1	Hospital Beds	Avg. Occupancy 12.9%	Nursing Homes	Nursing Home Beds 112	
In-Patient Days 1,978	Total Admissions 527	Avg. Stay 3.75	Total Days 38,887		
7					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 12.9%	Nursing Homes	Nursing Home Beds 117	Avg. Occupancy 59.0%
In-Patient Days 2,305	Total Admissions 643	Avg. Stay 3.58	Total Days 25,216		
8					
Hospitals 1	Hospital Beds 95	Avg. Occupancy 43.8%	Nursing Homes	Nursing Home Beds 181	Avg. Occupancy 92.8%
In-Patient Days 15,177	Total Admissions 4,046	Avg. Stay 3.75	Total Days 61,293		
9					
Hospitals 1	Hospital Beds 71	Avg. Occupancy 23.2%	Nursing Homes	Nursing Home Beds 144	Avg. Occupancy 81.8%
In-Patient Days 6,009	Total Admissions 1,438	Avg. Stay 4.18	Total Days 42,984		

	HOSPITALS			NURSING HOMES	
10					
Hospitals 1	Hospital Beds 53	Avg. Occupancy 42.4%	Nursing Homes 2	Nursing Home Beds 232	Avg. Occupancy 95.8%
In-Patient Days 8,203	Total Admissions 2,442	Avg. Stay 3.36	Total Days 81,086		
11					
Hospitals 1	Hospital Beds 557	Avg. Occupancy 58.4%	Nursing Homes 7	Nursing Home Beds 718	Avg. Occupancy 79.4%
In-Patient Days 118,748	Total Admissions 27,573	Avg. Stay 4.31	Total Days 208,123		
12					
Hospitals 1	Hospital Beds 52	Avg. Occupancy 33.6%	Nursing Homes 1	Nursing Home Beds 102	Avg. Occupancy 88.0%
In-Patient Days 6,374	Total Admissions 1,927	Avg. Stay 3.31	Total Days 32,746		
13					
Hospitals 1	Hospital Beds 155	Avg. Occupancy 75.0%	Nursing Homes 2	Nursing Home Beds 237	Avg. Occupancy 96.6%
In-Patient Days 42,407	Total Admissions 10,096	Avg. Stay 4.20	Total Days 83,545		
14					
Hospitals 1	Hospital Beds 42	Avg. Occupancy 63.6%	Nursing Homes	Nursing Home Beds 164	Avg. Occupancy 95.9%
In-Patient Days 9,749	Total Admissions 2,605	Avg. Stay 3.74	Total Days 57,425		
15					
Hospitals 1	Hospital Beds 84	Avg. Occupancy 54.5%	Nursing Homes	Nursing Home Beds 371	Avg. Occupancy 89.2%
In-Patient Days 16,711	Total Admissions 4,475	Avg. Stay 3.73	Total Days 120,795		
16					
Hospitals 1	Hospital Beds 69	Avg. Occupancy 61.0%	Nursing Homes 2	Nursing Home Beds 217	Avg. Occupancy 97.1%
In-Patient Days 15,373	Total Admissions 3,716	Avg. Stay 4.14	Total Days 76,895		
17					
Hospitals 1	Hospital Beds 112	Avg. Occupancy 62.2%	Nursing Homes	Nursing Home Beds 316	Avg. Occupancy 95.0%
In-Patient Days 25,407	Total Admissions 6,402	Avg. Stay 3.97	Total Days 109,517		
18					
Hospitals 3	Hospital Beds 587	Avg. Occupancy 61.8%	Nursing Homes	Nursing Home Beds 1,140	Avg. Occupancy 85.7%
In-Patient Days 132,336	Total Admissions 25,378	Avg. Stay 5.21	Total Days 356,401		

	HOSPITALS			NURSING HOMES	
19					
Hospitals 3	Hospital Beds 330	Avg. Occupancy 41.1%	Nursing Homes 8	Nursing Home Beds 685	Avg. Occupancy 76.8%
In-Patient Days 49,450	Total Admissions 13,325	Avg. Stay 3.71	Total Days 191,993		
20					
Hospitals 1	Hospital Beds 108	Avg. Occupancy 68.4%	Nursing Homes	Nursing Home Beds 246	Avg. Occupancy 94.2%
In-Patient Days 26,980	Total Admissions 6,545	Avg. Stay 4.12	Total Days 84,538		
21					
Hospitals 4	Hospital Beds 1,186	Avg. Occupancy 62.6%	Nursing Homes 14	Nursing Home Beds 1,915	Avg. Occupancy 84.1%
In-Patient Days 271,164	Total Admissions 59,074	Avg. Stay 4.59	Total Days 587,636		
22					
Hospitals 11	Hospital Beds 4,338	Avg. Occupancy 56.6%	Nursing Homes 20	Nursing Home Beds 3,075	Avg. Occupancy 79.8%
In-Patient Days 896,526	Total Admissions 168,343	Avg. Stay 5.33	Total Days 895,464	ŕ	
23					
Hospitals 7	Hospital Beds 1,675	Avg. Occupancy 61.6%	Nursing Homes 16	Nursing Home Beds 2,368	Avg. Occupancy 83.7%
In-Patient Days 376,409	Total Admissions 63,780	Avg. Stay 5.90	Total Days 723,846	,	
24			<u>'</u>		
Hospitals 1	Hospital Beds	Avg. Occupancy 65.0%	Nursing Homes 2	Nursing Home Beds 275	Avg. Occupancy 81.7%
In-Patient Days 32,740	Total Admissions 8,452	Avg. Stay 3.87	Total Days 81,989		
25					
Hospitals 3	Hospital Beds	Avg. Occupancy 59.6%	Nursing Homes	Nursing Home Beds 1,164	Avg. Occupancy 94.1%
In-Patient Days 167,708	Total Admissions 34,997	Avg. Stay 4.79	Total Days 399,862	,	
26					
Hospitals 1	Hospital Beds 77	Avg. Occupancy 42.1%	Nursing Homes 3	Nursing Home Beds 230	Avg. Occupancy 94.3%
In-Patient Days 11,842	Total Admissions 3,588	Avg. Stay 3.30	Total Days 79,152		
27					
Hospitals 5	Hospital Beds 726	Avg. Occupancy 50.8%	Nursing Homes 12	Nursing Home Beds 1,211	Avg. Occupancy 90.8%
In-Patient Days 134,702	Total Admissions 31,137	Avg. Stay 4.33	Total Days 401,159		

	HOSPITALS			NURSING HOMES	
28					
Hospitals	Hospital Beds 82	Avg. Occupancy 15.2%	Nursing Homes 2	Nursing Home Beds 209	Avg. Occupancy 98.0%
In-Patient Days 4,554	Total Admissions 1,020	Avg. Stay 4.46	Total Days 74,730		
29					
Hospitals 1	Hospital Beds 52	Avg. Occupancy 28.8%	Nursing Homes	Nursing Home Beds 187	Avg. Occupancy 88.6%
In-Patient Days 5,467	Total Admissions 1,530	Avg. Stay 3.57	Total Days 60,453		
30					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 148.0%	Nursing Homes 1	Nursing Home Beds 47	Avg. Occupancy 93.5%
In-Patient Days 13,502	Total Admissions 2,230	Avg. Stay 6.05	Total Days 16,039		
31					
Hospitals 4	Hospital Beds 1,823	Avg. Occupancy 43.4%	Nursing Homes	Nursing Home Beds 1,352	Avg. Occupancy 78.5%
In-Patient Days 288,902	Total Admissions 59,371	Avg. Stay 4.87	Total Days 387,367	ŕ	
32					
Hospitals 1	Hospital Beds	Avg. Occupancy 44.4%	Nursing Homes	Nursing Home Beds 364	Avg. Occupancy 81.6%
In-Patient Days 7,614	Total Admissions 1,996	Avg. Stay 3.81	Total Days 108,423		
33					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 152	Avg. Occupancy 72.9%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 40,472		
34					
Hospitals 1	Hospital Beds 49	Avg. Occupancy	Nursing Homes	Nursing Home Beds 100	Avg. Occupancy 90.1%
In-Patient Days 2,459	Total Admissions 493	Avg. Stay 4.99	Total Days 32,880		
35					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 10.2%	Nursing Homes 1	Nursing Home Beds 104	Avg. Occupancy 73.1%
In-Patient Days 1,863	Total Admissions 697	Avg. Stay 2.67	Total Days 27,743		
36					
Hospitals 2	Hospital Beds 114	Avg. Occupancy 46.5%	Nursing Homes 3	Nursing Home Beds 285	Avg. Occupancy 96.3%
In-Patient Days 19,352	Total Admissions 5,702	Avg. Stay 3.39	Total Days 100,157		

	HOSPITALS			NURSING HOMES	
37					
Hospitals 2	Hospital Beds 188	Avg. Occupancy 130.4%	Nursing Homes 5	Nursing Home Beds 610	Avg. Occupancy 90.1%
In-Patient Days 89,486	Total Admissions 18,868	Avg. Stay 4.74	Total Days 200,619		
38					
Hospitals 1	Hospital Beds 215	Avg. Occupancy 63.0%	Nursing Homes 2	Nursing Home Beds 299	Avg. Occupancy 63.4%
In-Patient Days 49,449	Total Admissions 11,974	Avg. Stay 4.13	Total Days 69,151		
39					
Hospitals 1	Hospital Beds 361	Avg. Occupancy 57.2%	Nursing Homes 4	Nursing Home Beds 639	Avg. Occupancy 93.9%
In-Patient Days 75,307	Total Admissions 15,600	Avg. Stay 4.83	Total Days 218,956		
40					
Hospitals 1	Hospital Beds 143	Avg. Occupancy 76.6%	Nursing Homes 2	Nursing Home Beds 334	Avg. Occupancy 95.0%
In-Patient Days 39,967	Total Admissions 9,731	Avg. Stay 4.11	Total Days 115,777		
41					
Hospitals 1	Hospital Beds 143	Avg. Occupancy 46.3%	Nursing Homes 2	Nursing Home Beds 260	Avg. Occupancy 79.8%
In-Patient Days 24,158	Total Admissions 5,974	Avg. Stay 4.04	Total Days 75,775		
42					
Hospitals 2	Hospital Beds 314	Avg. Occupancy 28.2%	Nursing Homes	Nursing Home Beds 674	
In-Patient Days 32,301	Total Admissions 8,797	Avg. Stay 3.67	Total Days 219,390		
43					
Hospitals 4	Hospital Beds 1,109	Avg. Occupancy 44.5%	Nursing Homes	Nursing Home Beds 1,236	Avg. Occupancy 82.4%
In-Patient Days 180,273	Total Admissions 35,335	Avg. Stay 5.10	Total Days 371,958		
44					
Hospitals 1	Hospital Beds 115	Avg. Occupancy 39.2%	Nursing Homes 4	Nursing Home Beds 419	Avg. Occupancy 88.1%
In-Patient Days 16,469	Total Admissions 4,407	Avg. Stay 3.74	Total Days 134,730		
45					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 14.2%	Nursing Homes	Nursing Home Beds 275	Avg. Occupancy 85.6%
In-Patient Days 2,070	Total Admissions 498	Avg. Stay 4.16	Total Days 85,969		

	HOSPITALS			NURSING HOMES	
46					
Hospitals 4	Hospital Beds 1,015	Avg. Occupancy 58.3%	Nursing Homes 17	Nursing Home Beds 1,912	Avg. Occupancy 77.4%
In-Patient Days 215,828	Total Admissions 40,339	Avg. Stay 5.35	Total Days 540,418		
47					
Hospitals	Hospital Beds 140	Avg. Occupancy 41.5%	Nursing Homes 3	Nursing Home Beds 216	Avg. Occupancy 87.4%
In-Patient Days 21,191	Total Admissions 4,655	Avg. Stay 4.55	Total Days 68,940		
48					
Hospitals 1	Hospital Beds 56	Avg. Occupancy 50.5%	Nursing Homes 6	Nursing Home Beds 379	Avg. Occupancy 91.3%
In-Patient Days 10,312	Total Admissions 2,130	Avg. Stay 4.84	Total Days 126,302		
49					
Hospitals 1	Hospital Beds 65	Avg. Occupancy 18.3%	Nursing Homes 2	Nursing Home Beds 241	Avg. Occupancy 87.4%
In-Patient Days 4,340	Total Admissions 1,112	Avg. Stay 3.90	Total Days 76,866		
50					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 37.4%	Nursing Homes 2	Nursing Home Beds 167	Avg. Occupancy 88.7%
In-Patient Days 5,458	Total Admissions 1,680	Avg. Stay 3.25	Total Days 54,096		
51					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 9.0%	Nursing Homes	Nursing Home Beds 128	Avg. Occupancy 89.4%
In-Patient Days 1,613	Total Admissions 419	Avg. Stay 3.85	Total Days 41,782		
52					
Hospitals 5	Hospital Beds 1,214	Avg. Occupancy 61.2%	Nursing Homes 16	Nursing Home Beds 1,590	Avg. Occupancy 76.8%
In-Patient Days 271,144	Total Admissions 50,411	Avg. Stay 5.38	Total Days 445,707		
53					
Hospitals 1	Hospital Beds 150	Avg. Occupancy 56.4%	Nursing Homes 4	Nursing Home Beds 314	Avg. Occupancy 72.6%
In-Patient Days 30,871	Total Admissions 8,324	Avg. Stay 3.71	Total Days 83,253		
54					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 11.4%	Nursing Homes	Nursing Home Beds 100	Avg. Occupancy 85.1%
In-Patient Days 1,667	Total Admissions 544	Avg. Stay 3.06	Total Days 31,075		

	HOSPITALS			NURSING HOMES	
55					
Hospitals 1	Hospital Beds 60	Avg. Occupancy 23.1%	Nursing Homes 3	Nursing Home Beds 298	Avg. Occupancy 82.9%
In-Patient Days 5,052	Total Admissions 1,041	Avg. Stay 4.85	Total Days 90,125		
56					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 22.4%	Nursing Homes 3	Nursing Home Beds 339	Avg. Occupancy 78.9%
In-Patient Days 3,998	Total Admissions 1,106	Avg. Stay 3.61	Total Days 97,568		
57					
Hospitals 1	Hospital Beds 72	Avg. Occupancy 23.3%	Nursing Homes 3	Nursing Home Beds 262	Avg. Occupancy 90.1%
In-Patient Days 6,130	Total Admissions 1,803	Avg. Stay 3.40	Total Days 86,210		
58					
Hospitals 1	Hospital Beds 57	Avg. Occupancy 53.2%	Nursing Homes	Nursing Home Beds 347	Avg. Occupancy 80.7%
In-Patient Days 11,073	Total Admissions 3,643	Avg. Stay 3.04	Total Days 102,214		
59					
Hospitals 1	Hospital Beds	Avg. Occupancy 26.7%	Nursing Homes	Nursing Home Beds 62	Avg. Occupancy 47.4%
In-Patient Days 3,896	Total Admissions 959	Avg. Stay 4.06	Total Days 10,721		
60					
Hospitals 1	Hospital Beds	Avg. Occupancy 33.1%	Nursing Homes 4	Nursing Home Beds 430	
In-Patient Days 22,979	Total Admissions 6,320	Avg. Stay 3.64	Total Days 142,078		
61			<u> </u>		
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 219	Avg. Occupancy 92.6%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 73,999		
62					
Hospitals 1	Hospital Beds 94	Avg. Occupancy 22.1%	Nursing Homes 2	Nursing Home Beds 200	Avg. Occupancy 85.6%
In-Patient Days 7,593	Total Admissions 2,190	Avg. Stay 3.47	Total Days 62,507		
63					
Hospitals 1	Hospital Beds 64	Avg. Occupancy 8.6%	Nursing Homes	Nursing Home Beds 75	Avg. Occupancy 73.6%
In-Patient Days 2,002	Total Admissions 497	Avg. Stay 4.03	Total Days 20,143		

	HOSPITALS			NURSING HOMES	
64					
Hospitals 1	Hospital Beds 55	Avg. Occupancy 34.8%	Nursing Homes	Nursing Home Beds 305	Avg. Occupancy 84.0%
In-Patient Days 6,989	Total Admissions 2,088	Avg. Stay 3.35	Total Days 93,488		
65					
Hospitals 1	Hospital Beds 65	Avg. Occupancy 52.1%	Nursing Homes	Nursing Home Beds 243	Avg. Occupancy 82.1%
In-Patient Days 12,369	Total Admissions 2,963	Avg. Stay 4.17	Total Days 72,843		
66					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 16.8%	Nursing Homes 4	Nursing Home Beds 350	Avg. Occupancy 81.0%
In-Patient Days 3,060	Total Admissions 839	Avg. Stay 3.65	Total Days 103,497		
67			<u> </u>		
Hospitals 2	Hospital Beds 282	Avg. Occupancy 64.6%	Nursing Homes 5	Nursing Home Beds 507	Avg. Occupancy 93.6%
In-Patient Days 66,453	Total Admissions 14,546	Avg. Stay 4.57	Total Days 173,222		
68					
Hospitals 1	Hospital Beds 143	Avg. Occupancy 12.1%	Nursing Homes	Nursing Home Beds 338	Avg. Occupancy 66.5%
In-Patient Days 6,321	Total Admissions 1,923	Avg. Stay 3.29	Total Days 82,084		
69					
Hospitals 1	Hospital Beds	Avg. Occupancy 21.4%	Nursing Homes	Nursing Home Beds	Avg. Occupancy 86.1%
In-Patient Days 2,502	Total Admissions 541	Avg. Stay 4.62	Total Days 26,708		
Hospitals 1	Hospital Beds 40	Avg. Occupancy 14.2%	Nursing Homes 1	Nursing Home Beds 80	Avg. Occupancy 87.4%
In-Patient Days 2,069	Total Admissions 320	Avg. Stay 6.47	Total Days 25,507		
71					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 20.5%	Nursing Homes 1	Nursing Home Beds 127	Avg. Occupancy 66.9%
In-Patient Days 3,667	Total Admissions 336	Avg. Stay 10.91	Total Days 31,004		
72					
Hospitals 2	Hospital Beds 103	Avg. Occupancy 65.0%	Nursing Homes 2	Nursing Home Beds 172	Avg. Occupancy 75.7%
In-Patient Days 24,446	Total Admissions 6,062	Avg. Stay 4.03	Total Days 47,520		

	HOSPITALS			NURSING HOMES	
73					
Hospitals 1	Hospital Beds 80	Avg. Occupancy 81.7%	Nursing Homes 2	Nursing Home Beds 207	Avg. Occupancy 95.5%
In-Patient Days 23,866	Total Admissions 5,086	Avg. Stay 4.69	Total Days 72,138		
74					
Hospitals 1	Hospital Beds 60	Avg. Occupancy 29.1%	Nursing Homes	Nursing Home Beds 142	Avg. Occupancy 53.8%
In-Patient Days 6,376	Total Admissions 1,346	Avg. Stay 4.74	Total Days 27,871		
75					
Hospitals 1	Hospital Beds 264	Avg. Occupancy 60.3%	Nursing Homes 4	Nursing Home Beds 267	Avg. Occupancy 96.8%
In-Patient Days 58,085	Total Admissions 10,447	Avg. Stay 5.56	Total Days 94,326		
76					
Hospitals 4	Hospital Beds 763	Avg. Occupancy 40.5%	Nursing Homes	Nursing Home Beds 912	Avg. Occupancy 83.8%
In-Patient Days 112,852	Total Admissions 20,884	Avg. Stay 5.40	Total Days 278,949		
77					
Hospitals 1	Hospital Beds	Avg. Occupancy 23.1%	Nursing Homes	Nursing Home Beds 117	Avg. Occupancy 86.9%
In-Patient Days 4,224	Total Admissions 440	Avg. Stay 9.60	Total Days 37,091		
78					
Hospitals 1	Hospital Beds	Avg. Occupancy 28.4%	Nursing Homes 4	Nursing Home Beds 287	Avg. Occupancy 92.4%
In-Patient Days 16,094	Total Admissions 4,153	Avg. Stay 3.88	Total Days 96,787		
79					
Hospitals 1	Hospital Beds 176	Avg. Occupancy 70.0%	Nursing Homes 4	Nursing Home Beds 369	Avg. Occupancy 88.7%
In-Patient Days 44,993	Total Admissions 10,385	Avg. Stay 4.33	Total Days 119,477		
80					
Hospitals 1	Hospital Beds 60	Avg. Occupancy 16.0%	Nursing Homes 1	Nursing Home Beds 95	Avg. Occupancy 84.6%
In-Patient Days 3,501	Total Admissions 1,133	Avg. Stay 3.09	Total Days 29,333		
81					
Hospitals 1	Hospital Beds 45	Avg. Occupancy 36.1%	Nursing Homes 1	Nursing Home Beds 188	Avg. Occupancy 97.3%
In-Patient Days 5,925	Total Admissions 631	Avg. Stay 9.39	Total Days 66,762		

	HOSPITALS			NURSING HOMES	
82					
Hospitals 2	Hospital Beds 376	Avg. Occupancy 62.4%	Nursing Homes 4	Nursing Home Beds 367	Avg. Occupancy 84.2%
In-Patient Days 85,675	Total Admissions 18,700	Avg. Stay 4.58	Total Days 112,746		
83					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 20.3%	Nursing Homes	Nursing Home Beds 92	Avg. Occupancy 86.7%
In-Patient Days 1,853	Total Admissions 423	Avg. Stay 4.38	Total Days 29,110		
84					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 28.8%	Nursing Homes 1	Nursing Home Beds 62	Avg. Occupancy 91.3%
In-Patient Days 4,201	Total Admissions 529	Avg. Stay 7.94	Total Days 20,665		
85					
Hospitals 1	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 108	Avg. Occupancy 99.4%
In-Patient Days 3,297	Total Admissions 763	Avg. Stay 4.32	Total Days 39,203		
86					
Hospitals 1	Hospital Beds	Avg. Occupancy 29.5%	Nursing Homes	Nursing Home Beds 113	Avg. Occupancy 84.4%
In-Patient Days 3,667	Total Admissions 1,349	Avg. Stay 2.72	Total Days 34,811		
87					
Hospitals 1	Hospital Beds	Avg. Occupancy 22.8%	Nursing Homes 2	Nursing Home Beds 245	Avg. Occupancy 63.6%
In-Patient Days 6,238	Total Admissions 1,846	Avg. Stay 3.38	Total Days 56,911		
88					
Hospitals 1	Hospital Beds	Avg. Occupancy 60.1%	Nursing Homes	Nursing Home Beds 168	Avg. Occupancy 80.8%
In-Patient Days 19,318	Total Admissions 5,568	Avg. Stay 3.47	Total Days 49,560		
89					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 19.2%	Nursing Homes	Nursing Home Beds 73	Avg. Occupancy 92.9%
In-Patient Days 3,502	Total Admissions 1,065	Avg. Stay 3.29	Total Days 24,742		
90					
Hospitals 1	Hospital Beds 47	Avg. Occupancy 31.9%	Nursing Homes 1	Nursing Home Beds 88	Avg. Occupancy 96.0%
In-Patient Days 5,475	Total Admissions 1,550	Avg. Stay 3.53	Total Days 30,823		

	HOSPITALS			NURSING HOMES	
91					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 74.1%	Nursing Homes 1	Nursing Home Beds 101	Avg. Occupancy 98.6%
In-Patient Days 13,260	Total Admissions 2,480	Avg. Stay 5.35	Total Days 36,331		
92					
Hospitals 1	Hospital Beds 84	Avg. Occupancy 45.7%	Nursing Homes 4	Nursing Home Beds 332	Avg. Occupancy 91.1%
In-Patient Days 14,013	Total Admissions 3,546	Avg. Stay 3.95	Total Days 110,358		
93					
Hospitals 1	Hospital Beds 300	Avg. Occupancy 49.6%	Nursing Homes 6	Nursing Home Beds 568	Avg. Occupancy 62.5%
In-Patient Days 54,317	Total Admissions 11,193	Avg. Stay 4.85	Total Days 129,473		
94					
Hospitals 1	Hospital Beds 231	Avg. Occupancy 43.1%	Nursing Homes 4	Nursing Home Beds 520	Avg. Occupancy 88.5%
In-Patient Days 36,375	Total Admissions 7,568	Avg. Stay 4.81	Total Days 168,014		
95					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 14.6%	Nursing Homes 1	Nursing Home Beds 92	Avg. Occupancy 86.0%
In-Patient Days 2,661	Total Admissions 381	Avg. Stay 6.98	Total Days 28,865		
96					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 39.9%	Nursing Homes 1	Nursing Home Beds 78	Avg. Occupancy 66.4%
In-Patient Days 5,831	Total Admissions 1,923	Avg. Stay 3.03	Total Days 18,917		

Report created by Georgia Board for Physician Workforce, State of Georgia